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QUESTION 1

Which of the following are TRUE about a RepAgent? (Choose 2)
A. Moves the primary truncation point

B. Is an Adaptive Server Enterprise thread

C. Applies transactions to the replicate database

D. Reads the primary database transaction log

E. Maintains referential integrity

Correct Answer: BD

QUESTION 2

Which of the following are TRUE about Semiautomatic Warm Standby? (Choose 2)
A. DDL always replicates.

B. Switchover is instantaneous.

C. Entire database marked with sp_reptostandby.

D. Individual objects are marked with sp_setreptable.

E. Subsets of the database may be replicated instead of the whole database.

Correct Answer: DE

QUESTION 3

Which of the following are TRUE about Automatic Warm Standby? (Choose 2)

A. Object and device names should match between Active and Standby databases.
B. Data Definition Languages cannot be replicated.

C. System tables are replicated between Active and Standby databases.

D. All tables in the database are marked for replication at once.

Correct Answer: AD

QUESTION 4

Given that the emory_limit parameter has been configured to a high value, but the replication outbound queue is pilling
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up, which of the following gives the best throughput by increasing its parameter?
A. Queue_dump_buffer_size

B. Sqt_max_cache_size

C. Md_source_memory_pool

D. Num_msgqueues

E. Sts_cache_size

Correct Answer: B

QUESTION 5

Which statements are TRUE about replicating tables with encrypted columns in ASE?

A. Replication Server automatically generates separate column encryption keys for the replicate database.

B. The DBA must manually create the same set of column encryption keys in all databases in the replication system.

C. Replication Server replicates the encrypted data and the column encryption keys to the replicate databases without
decryption.

D. Replication Server replicates encrypted data as plaintext, so SSL is required to protect the data.

Correct Answer: C
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